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E - Roadwork
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#include<bits/stdc++.h>

#define 11 long long

#define pii pair<int,int>

#define mp_make pair

#define pb push back

#define fi first

#define se second

#define rep(i,a,b) for(int i=(a);i<=(b);i++)

#define per(i,a,b) for(int i=(a);i>=(b);i--)

#define showl(a) cout<<#a<<" = "<<a<<endl

#define show2(a,b) cout<<#a<<" = "<<a<<"; "<<#b<<" = "<<b<<endl
using namespace std;

const 1Ll INF = 1LL<<60;

const int inf = 1<<30;

const int maxn = 2e5+5;

inline void fastio ios::sync with stdio(false);cin.tie(0);cout.tie(0);

int s[maxn],tImaxn],x[maxn],d[maxn],id[maxn];
int tr[maxn<<2|,lazy|/maxn<<2];
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void push down(int id
lazy/id]!=-

triid<<l] = tr[id<<l| = lazyl/id<<l]| = lazy!id<<l| = lazyl/id];
lazy/id]| = -1;

void build(int id,int 1,int r

tr{id] = -1,lazylid]| = -1;

l==r ;
int mid = (l+r)>>1;
build(id<<1,1,mid);build(id<<1|1,mid+1,r);

void update(int id,int stl,int str,int 1,int r,int k

stl==1 && str==r
tr[id] = k;
lazylid]| = k;

’

push down(id);
int mid = (stl+str)>>1;
r<=mid) update(id<<l,stl,mid,l,r,k);
1>mid) update(id<<l|1l,mid+1,str,l,r,k);
update(id<<l,stl,mid, l,mid,k),update(id<<1|1,mid+1,str,mid+1,r,k);

int query(int id,int stl,int str,int pos

stl == str triid];
push down(id);
int mid = (stl+str)>>1;
pos<=mid query(id<<1,stl,mid, pos);

query(id<<1|1,mid+1,str,pos);
int main

fastio();

int n,q;

cin>>n>>Qq;

rep(i,1l,n) cin>>s[i|>>t[i]>>x[1i];
rep(i,1l,q) cin>>d[i];

build(1,1,q);
rep(i,1,n) id[i] = 1i;
sort(id+1,id+n+1, int a,int b x[al<x[bl;});
per(i,n,
int L = lower bound(d+1,d+g+1,s/id[i]|-x[id[i - d;
int R = lower bound(d+1,d+qg+1,t/id[i]|-x[id[i -d - 1;
R<L || R== ;

update(1,1,q,L,R,x[id[1 ;
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rep(i,1,q
cout<<query(1l,1,q,1)<<endl;

0;

F - Frog Jump
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#include<bits/stdc++.h>

#define 11 long long

#define pii pair<int,int>

#define mp make pair

#define pb push back

#define fi first

#define se second

#define rep(i,a,b) for(int i=(a);i<=(b);i++)
#define per(i,a,b) for(int i=(a);i>=(b);i--)
#define showl(a) cout<<#a<<" = "<<a<<endl
#define show2(a,b) cout<<#a<<" = "<<a<<"; "<<#b<<" = "<<b<<endl
using namespace std;

const 1l INF = 1LL<<60;

const int inf = 1<<30;
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const int maxn = le5+5;
inline void fastio ios::sync with stdio(false);cin.tie(0);cout.tie(0);

int s[imaxn];
vector<ll> prelmaxn|,suf maxn];

int main
fastiol();
int n; cin>>n;
rep(i,0,n- cin>>s[i];
rep(i,1,n-
int j=0;j<n;j+=1
preli].size == preli].pb(s[j]);
preli].pb(pre[i].back() + s[jl);
int j=n-1;j>=0;j-=1
suf(i].size() == suf(i].pb(s[j]);
suf[i].pb(suf[i].back() + s[jl);
1l ans = 0;
rep(k,1l,n-

int d=1;d*k<n-1;d++
int A = n-1-k*d;
int B A-d;
B <= c
%d==0 && A/d<=k ;
ans = max(ans,pre/d| k! + sufid| k!);

cout<<ans<<endl;

’

un
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